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Sharp Keys and Scale Degrees

In Grade 3 we learned about major keys with up to 4 sharps:
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Well guess what? There are only three more major keys with sharps! (fos uon'L actually be
fested on [ 5karp major In the eqam bot Jou may a well know it anjwaj)
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1 = Tonic

5 = Dominant

2

6

= Supertonic

= Submediant

3 = Mediant

7 = Leading note

let's revise the fec‘vnical names )C"f the scale (}egreesi

4 = Subdominant




lMinor' Sharp Keys‘ Major Flat Keys

For Grade 4 we have to know minor keys with up to four sharps. Here they are: D flat and G flat major are added for Grade 4. Now you know keys with up to six flats!
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Write the following key signatures:
Write these key signatures (uatch ot Ew cIEE clwanges!):
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€ sharp minor B minor E minor F sharp minor () (Y LY
B flat major A flat major D flat major E flat major G flat major
Name these minor key signatures:
’Q #H ﬁ # e Yx- }g}:guﬁ ’J? Write the following key signatures and the named scale degree.
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G flat major A flat major B flat major F major D flat major
mediant leading note tonic subdominant supertonic

@ DID YOU HAOW... The Bl Hey Sigatre Tabl s the e ad o merorisig ey signtares!

B minor F sharp minor B major F sharp major € sharp minor
dominant leading note supertonic submediant subdominant

Write the major scale with the key signature of five flats:

* use a key signature and minims

Write the minor scale with the key signature of 4 sharps: . . i :
% write one octave going down L S 7 v w— —

. . Fb-pr o1
* use a key signature and semibreves i, * mark the semitones S
VAN X .l e~ 3
H i . - . -
* write one octave going up \3’ a5 o ©o° o——— * complete the scale with a double bar line
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Minor Flat Keys Scale Mania

- -

Using the information on the previous page, complete the following sentences: Go to www.blitzbooks.com.au and download some FREE manuscript paper.

% Then write scales according to the following sets of instructions...

€ minor is the relative of E flat major, therefore it has 2 flats.

D minor is the relative of F major, therefore it has _1 _ flat.
B flat minor is the relative of D flat major, therefore it has 5 flats, SeJL l: E maJ/min, bElaJL maJ/min, 6 ma'j/m]n (B 503]65)

6 minor is the relative of B flat major, therefore it has ___ flats.

* use the bass clef
F minor is the relative of A flat major, therefore it has 4 ___ flats. * write the key signature
heir k h * use crotchets
Write their key signatures here:
A YS9 * write two octaves going down
:;"Db g.'" Bb'p 5“0&9 P '-’P * circle ahy intervals larger than a tone
v * complete the scale with a double bar line
. D 7] 7] b4 L7y
e - e b T
D minor G minor € minor F minor B flat minor . . . . .
Jet 2: A {la major, D Clat major, b maJ/ min (1 scales)
Name these key signatures: * use the treble clef
A A A use accidentals
P A [P A Hey=| Heys 11 H 117 i . .
(> s 5% 5 IE £ amr i use minims
ANAT4 LAY | i Ml v 1 v ]2 1 INS7.4 1]
v ) v write one octave going up and back down again

E_Jiaj_major D minor E_ypat major E  minor C minor

mark each semitone with a slur

* % % ¥ »*

complete the scale with a double bar line
C minor, F minor and B flat minor all need a natural sign to raise the leading note when

writing scales with key signatures.

Write the scale of B flat harmonic minor Set 3: fmaJ/mln. C 3'\31'? malj/m'ln. D ma.j/m'ln (g scales)

* use a key signature * use the bass clef
* use crotchets * write the key signature
* write two octaves going up * use semibreves
* mark the tones (hint: avoid 51! * write two octaves going up
9 o . P gp- * mark the tones in the lower‘ octave
by — 1 g et o+ +———— ;ﬂ * complete the scale with a double bar line
2 - T
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Double Sharps and Double Flats

alfm

A double sharp sign looks like this: % . It raises a note by two semitones (one tone),

A double flat sign looks like this: . It lowers a note by two semitones (one tone).

Raise all of these notes one tone with a double sharp:
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Lower all of these notes one tone with a double flat:

N pre-
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Now play all these notes on your instrument!

Double sharps and double flats enable us to write the same note 3 different ways.

) o)
So E sounds exactly the same as :ém and :éﬁﬁ!
[Y)

[

Find two different ways to write each of these notes. Be careful: sometimes you may

only need a single sharp or flat!
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HOT TIP: A dosble stvarp or dosble )qat cancels out a ﬁ'lngle SLarP or E'af. There 15 no slgn to raise or louer

‘d’;'ﬁ,‘(.‘ a note more than a fone!

To raise or lower a note 'chromatically’ is to change the accidental only. e.g.
O

S ¥
[))
raise one semitone raise one tone lower one semitone lower one tone

To raise or lower a note 'diatonically’ is to change the letter name (and someLimes the aceidental
te0), For example:

ln on H =1 7y - i‘lf\ T T | Il
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raise one semitone raise one tone lower one semitone lower one tone

What's the Jifference betueen Chromatic and Diatonic?

CHROMATIC: Two notes a semitone apart with the same leftter name. A chromatic
scale is a series of 12 notes moving in semitones.

DIATONIC: A semitone, interval, scale or phrase in which the notes have different
letter names. (Remember: Eor Diatonic, EOr Diffemnt!)

Change these notes as directed chromatically (keeP the same letter nape)
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raise one semitone lower one semitone raise one tone

Change these notes as directed diatonically (cFange the letter name and Poasila[y the accidental)
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raise one semitone lower one tone raise one tone

Which of the following is a chromatic semitone: A, B, C,or D? _D
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Modulating Melodies

* A modulation is a change of key.

* To figure out the opening key, look at the key signature and the first few notes.

* To figure out the modulation, look for accidentals and check the last note.

* The melody will modulate to either the dominant or the relative major/minor key.

Modulates to Last note

Neu l&ej

DOMINANT Scale degree no. 5

One sharp more/one flat less

RELATIVE MAJOR/MINOR

Scale degree no. 3/6

Same key signature, change

of tonality

1‘»&"’,"‘«" the melody has PrOLaHg modslated to the relatiie maJOr!

HOT HP M'lnor melod'les contain an accil}enta' Eor the raiseé Tth. IE the acc'ldenfal JisaPPearﬁ, it means
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Gt o o e g7+
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This melody has modulated from ) m{y}gr to .A_m.%a; .
It has finished in fhe/relaﬁve major /relative minor (circle correct ansuer)
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Thig melody has modulated from

10

This melody has modulated from Lsunem mioovto ( shorp minor

It has finished in the ¢ /relative major/ relative minor {circle correct ansuer)
y]

Groovj Guidelines Eor Hej Relat'lonsh\)s

* The dominant key of a major key remains MAJOR
* The dominant key of a minor key remains MINOR

* Only the relative major/minor key changes tonality!

In the following melodies, name the original (starting) key, the key it modulates to, and
the ‘relationship’ to the original (e.g. dominant or relative major/minor).
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u| T I ! hl ! 1] } - )i Sl 1 | 1
Original key: A_minor New key: Cm%f'gﬁ Relationship: Lelppve me"g/
:;£E$ﬂ1§3:§3::::::F4!:?' —— fz T T’ { e T—1 1|
= o = 1 |5 1 | T | ) al | | F 1 { y )i |
-@—4—rv ] 1'; B — I —+— - = t——ii
Original key: WM%OL New key: £ maﬁ'nc Relationship: Deminant
Hu s [re— . I
P ATV & 4 U —

L 152

ol
ol

= B w1
M‘_‘”—j_ﬂ = 'I = ! ]I - { 13§
Original key: £ m[{’.QL New key: ¢ shiarp miao-Relationship: Redohve winor

Here are a couple of trickier ones...the modulation is in the middle! (bars % and D)

)
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Opening key: {_nuapc _ Key of modulation: Evﬂaj_m%iquelaﬁonship: Mﬂﬁﬁ/
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Intervals

* Unisons, 4ths, 5ths and 8ves are PERFECT
* All other intervals are either MAJTOR or MINOR

* InGrade 3 we learned that all 2nds and 7ths are major. (This is becaise ue only dealt vith
intenals above the [ONI(.) But in Grade 4 we deal with all sorts of intervals, and now we may
find minor 2nds and minor 7ths!

Here are some intervals above G:

0 - e
p 4 I I ~F 11 . |
VA 1] 11 11, I 1|
| Faw Z LY H P S ] 1 = 11 = |
S ¥ 11 F 1T =¥ 1T = i
[}
minor 2nd major 2nd minor 7th major 7th

(tone less than octave) (sermitone less than octae)

{semitone) (tone)

(@:’ > Remember: Minor intervals are one semitone smaller than major intervals!
o3

Name these intervals. Some have key signatures, some have accidentals!

0| ) %Hﬂ:ﬂ
o 17 [ % ] I YO ) ] [ & ]
y AETY [l I 1l ¥ 1 1.1 %) F 4 F 4
[ a0 1 N7 LY yd Il [ fanY 1] | & an WL [ & ] 1]
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munor THh o _ndnor 2nd. acy.aaﬁzﬁ. munor. 2t punor 7th
Write these intervals
. e
9 P 4 ﬂu. T1 9 1 IU 2% = b'() - YR ) Hc
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minor 2nd minor 7th perfect 5th minor 6th major 7th

12

minor 6th major 2nd perfect 4th minor 7th

major 6th

Inversions of Intervals

- -
- ’

To ‘invert' something is to turn it upside down, To write the ‘inversion’ of an interval,
you can either take the bottom note and ‘flip' it up an octave (a bit like we do to get
firgt inversion chords), or you can flip the top note down an octave,

For example:

=IO = —— T =
Ee

Easy, isn't it? Invert (flip) these intervals whichever way seems easiest. Don't forget to
include the accidentals!

fe
n Ho > b
p" 4 7 = T 1| (&) | ) 1 XS] T
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You need to be careful when inverting octaves - they become unisons {and vice versa: unisons
become octaves! ! For example:

RULE FOR INVERTING INTERVALS: Move one of the notes one octave only!

A T = —& xl}‘G i E"Q‘ T M ﬂ T &9— T
Z :l () — h‘d ii HO i t i t H
bo
)= te 7 ] b
[ & an) 1 | 7K o] 1T I 11 ] I 1
D | H I F=1 11 Il—;c [ — 1]
v [)-ee— == fe e
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Naming Inversions

L.
- -

When you invert an interval, the number and quality of the interval changes. To work
out the name of an inversion, follow these simple rules:

* MINOR intervals become MAJOR when inverted
* MAJOR intervals become MINOR when inverted
* PERFECT intervals remain PERFECT when inverted

* An interval plus its inversion adds up 1o 9 (.. perfect th becomes perfect Yth: 0 +4 = 9)

o oh—is : = ! = 91 (Yoo hoo
Check this out: (D’D ] .ﬁ“ o 3+6 =9 {Woohoo!)
major 3rd minor 6th

In the exam you are given an interval and asked to write and name the inversion.

ALWAYS NAME THE GIVEN INTERVAL FIRST!
(The exam question doesn't tell you to do this bet it makes things a lot casier)

Write and name the inversion of this interval:

A | Step 1: Name the given interval: fosfecs &4
P A 1 JZEY
H—=° bo Step 2: Write the inversion.

v Step 3: Name the inversion: pesfecs 5%

(refer fo the rules aboye)

Write the inversion of the following intervals, then name each inversion, Remember, it's

much easier to name the interval first, then invert it, THEN name the inversion!

O ¥ o b o
p A o { PT 1 {J) 11 Y I PPy ]
F a T 1 11 LYy 1| no- [ &)
[ & an Y 1 TS 11 kil | I |
AN 4 | } X ) 1] I 1
[, m O
Ma}of 2nd migQr 2™ major T minor 27 mejor 3rd minor &'
bo
_C\: ~r T 1§ i 1 T T |
ya 9L @) —H#rs I e —Pee H b = hen_i_i
I [N W) I | I ol 11 [
v 3 .
wiar G mpgor 3 pufd e pedect unisor winr T cngor 2™
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Incredible Inversions

- -

DD YOU KNOW... In the cxam, there are usvally no lines for uriting under the gien interval. Don't
let this put Jou OEE a]uajs name the given intenal Eirs’t!

Write the inversions of the following intervals and then name the inversion.

0] (i) (iii)

n HO iy ]| — 13 — 1 a
b —doo oo+ Fg— |
‘QUV 1 HV 11 1 ]I 1 ]

Jj'JQ: E'Mr- “'QQ:EM .QQ: grd
(iv) v) (vi)
bes -
) Oy I 1/1®) ] — ! f Ty I [0 &) i
- I Mo} 1 © i o.74 it = | i
Hh . nel .
perfecd 8™ .mefaLQ_ perfect_unison
(vii) (viii) (ix)

o) b8 |

o T o 1] | 7Ly I |
7 T b HI | C\ l ] a
L5 t -+t I — -l i

(Y oo -a- =

A0F eih i'Q: 2% 0r Srd
(x) (xi) (xii)
OKY 0 be
) I i 'hvc I e 0 (@] I[ #’ﬂ?‘ﬁ—gﬁ
£ i & f = I |+ ] H I —1
IS
oe. QC' e e fecd Ef'h o 2nd
Write the following intervals, then invert each and rename.
#_ 0 £ #"D"
C T H'HYJ T Tt I T 1k | TS T
\._JV %() | 1 I [ ) H 1 1l
major 6th min0r 37 perfect 5th ,aﬁrfeg‘_LL”' major 7th M
15



16

Diminished and Augmented Intervals

-

o

Until now we've learnt that all intervals are either major, minor or perfect. But in
Grade 4 we learn about two ather types of 'quality’ of intervals:

* AUGMENTED: an augmented interval is one semitone larger than major or perfect.

* DIMINISHED: a diminished interval is one semitone smaller than minor or perfect.

Accidentals can change the quality of intervals.:

)
p 4 | 1 T T I |
{7y j — — I S — = ——= i
~ = By 1 o~ I o 1 —~— I L= o 1 Lt ]
¢ o =3 1o ez S o == -
major 3rd minor 3rd aug 3rd  dim 3rd  perfect 5th aug 5th  dim 5th

: DID YU KNOW... ve are concentrating on diminished (dim) and avgmenteé (aug) intenals EOUnJ in
scales. This means you uon't be fested on any Tntenals neeJing a dosble s‘»arp or double ﬂat!

Add an accidental to make each of the following intervals correct.

o) " ey pre-
P 4 o ¢ @ ] I He Lo " T &> I
A% 3 171% )  —— < = ' — i
ANE" ¥ | = e 1 It
U -
aug 5th dim 4th aug 2nd dim 7+h aug 4th dim 5th
Name these intervals by number and quality.
9' '[lt() ﬁ e &y Ir)(', -] i — |H 9 H
7 o) {7s s = 7 e e —H
S 1T [ ) TV N 1
(Y] ¢ oo

g44§ Sth

Quick Quiz

1. This melody modulates and ends in the new key.

Y

0% e

New key: _E minor

Relationship to the original key: _Ke/atiire minor

2. Complete the harmonic minor scale beginning on this note

* write one octave going down

Be 4 L P
* uyse accidentals ~— T T ﬁ,p- Q& w0
3 1 1 i P—sc—H
#* mark the tones ~ —— i
3. Name these intervals by number and quality:
0 . o) o 0 H o O 1,
P A o,y . 1 ) 4 P A [ & aond R A Y ="
VAN P dnad F Al Doy F A [@ ] y 4 T " [ ¥ o
X85 Oy [ f an Ll [ Fanl [ FanY I e WA )
A4 —_— ANE Y4 AN NS | JELNR [ @ ]
[J) () o () ()
_aug Sth  maygeedth  _ouwecth o 208 punor G4

HOT TIP: A diminished intenval becomes aUgmenteJ uhen Terted , and an avngnteJ interval becomes
‘»,lo,',»,«,.«, diminished uhen inverted !

4. Write the inversion of each of these intervals and name the inversion,

b= o HO . S
Fh X I A " 4 bl T O [_ I #e,_,_,_
il 1 Il T I il I - Dt 1
y.d > T PR { [ ) ] #’\[_) ya I & ] 1 1
bl L T ¥ ANY | J 1 1

5. Write these infervals above the given notes:

be-

0 . 0 e 0

P J 1T o T IFaY o 180 Y I A —
V 4 ] F=N 11 ¥ I P drd EF 4 [ 4] |l I3 = I 1
| Fan) 7L & > i I 4 . Nl & anY Iy |4 = 1N v P —_
A4 | A3 L& ] 1 NS4 _‘icc)

[, LY v 7

aug 2nd dim 7th dim 5th aug 2nd

Q- & T ﬁ ##‘-’ 171 5\- 1 JQ ﬁe ,.__H
y - TP Hfes 1 o> Hes 1l
Lhard [IEANNY J = [TA\NY [ ] 11
[y
perfect 5th major 2nd augmented 2nd minor 6th
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Introducing: %

- >

12 is very similar to § and §, which we studied in Grade 3 (i's a good idea Lo go back and reise the

wles Eor grouPing in comPOUnJ Ume). 182 simply has one extra dotted crotchet beat in the barl

Introducing: 2

- -

2 has 2 dotted MINIMS per bar ( J J.) and is another form of compound duple time.

Time slg Deats

Pulses

DeEinition

8 JJ

5

Compound Duple

coLo

JJ )

J 1]

Compound Triple

Time s'lgnatwe

bea‘cs

Pﬂlses

J ..

DL

Y | O

J o,

JJ.JJ

11

AT

Compound Quadruple

S 4

G DID YOU HNOW.... ue're now GHONEJ to vse Jofted minim rests, [ike this; =
0y N doted i st old il bl the b 12 e

2
Compose four bars of 1§ time including one dotted minim rest and a duplet ( J_,l ).
el
3 .

Complete the following bars with a rest or rests:

4 1 |V N F. 3 s Y 1 | s | I
[y 4 } il\, l{ ({ ; ) V] I T 1 1 1 —— }JI
""8 r X A fi i i i i i Il
Insert the correct time signatures:
2
rem—
| I )i 1 ay a T ] z 4

18

The accents in § are the same as in §: J J J J J J

Sww Mww

You may not group two pulses together if the first pulse is weak, So within each dotted
minim beat, it's ok to group the first two crotchets, but not the second two.

Wrong RISH!
X §JJ J- 2 PPPNER

Compose four bars of 2 rhythm here. Include some rests!

6dddy (Jiiem LSS el

HOT TIP: § 3 OEten COnEUaeJ uith %,vaf ke § i OEten COI\EUSGIJ uith 2, The grouping OE crotchet rests
”"‘I""I“ s a clue, plis you shasld be able to drau a dotted line down the middle of the bar in !

Insert the correct time signatures info these bars:

r4 I I I | = | I T e I
L] I H 1 F 2 ¥ 2 11 ' ] | ] } | |
; s I | ») ] 1 I 1 P T 1

19
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‘Time' To Practise ..

ey

L.
o

1, Complete the following bars using a rest or rests:

Fal |V N, 3\ 1 |}

-
= N 1} 1]
2
0 7 | 1| N Tl i3 1 ¥ S, |
[y 4 1 1 1 L [ 1]
o — ?——¢€ 1 = 1}
2. Insert the time signature and the missing bar lines into these melodies:
[) ) ! '
%% . —NH ——¥
1T i | = | . IR P - VY N
I I I LI = -
|4 ' ' 4 —
' | | |
F ) |4 1 1| 11 I I | 1T I
I 1 b " 1 ] 1
= T ' 1 ] =
Did you remenber to put doble bars at the end?
3. Complete the following bars with quavers grouped correctly:
s ——— — H 3 - I - i
B e e e ™ e E—1
R i B it
S s s 2ds sdd ddP
4. Insert the correct fime signatures into these bars:
T e T £ o S o |
Vi } _.; L 1 [l i F ] r | ] I j|
+‘_ﬁ L) { I = H > { 2 -7 q—l l' I‘\ -
i - — A — |  — i i

Syncopation

- y

'Syncopation’ is a rhythmic device which shifts the emphasis from the strong beats of
the bar to the weak beats. Syncopation is the main type of rhythm used in jazz.

Here are some examples of syncopation. Clap them through, then tick the box
describing how the syncopation is achieved: either with grouping, ties or accents.

SJncOPaUOn GrOUPing Ties | Accents

1) |/
% JJJJJJ) /
i) J . /

-

10 2J) |/

Write four bars of rhythm using at least two different types of syncopation.
4 [ 1 ]

Put a circle around the syncopated rhythms in these melodies. 3. Do Jou recognise the tunes?)

Whan I'm 64
h.____ . S~ W W
Eesssi=st — %‘:‘:%%H

0 s . 4 N TN I\
4 N Py
= atlo
Il 1 [ @] TTCT
1# 1 ("4 | Z } I
- =Y 1 1 e ———




Rhythmic Revision Test

1. At each place marked with an arrow, write one note to complete the bar, A
| N 1 A ] 1 1 O
[ 7] | | | ) I | I 1) { I\' } { = :' H
N> & o o o o o0 & ¢ o & — ¢ H
2, Complete the following bars as directed. A
Y i 7
#qj?:@? 2 i @:miﬁﬂ
|7 L= { Ly i | ] o
Y i | S e A
4 rests and 2 notes five notes

3. Add the missing bar lines and time signatures to these rhythms.

a)

2
| ., | I | A Y
G i g 0 I — i e s i =T N A} =
Y | Y | L] g ay lk\ I I [ ]
oy ] | L7
7 v 4 [ e L I £ | T Vi
b 1@ o & &1 w77 i& = Il

A

4. In example b) above, name the rhythmic device in bar 1. S&fncapaﬂ'au A
5. Name the heir to the English throne. _’Q.a_‘a_ge_{u,la'am(not sirictly Orade Y knouledge) A

6. Add the missing time signature and bar lines to this 3-bar rhythm.

44— 1 == © i E— -
e — A S TR M— ;

4

¢ 9
7. Name three time signatures in which you would find aduplet. gz _& 8

Total: /25

22

Introduction to Harmony

= y

At this point if's a good idea o revise some stuff on harmony from your Grade 3 book.
Look over four-part vocal style, pianoforte style and Perfect and Plagal cadences.

Basically, there are two main aims when doing harmony:
1. Good voice-leading. All voices should move smoothly, without any unnecessary leaps.

2. No consecutive Sths or consecutive 8ves. (§ee box beloy, ths is a Eig ‘wplc.)

Consecutive 5ths and 8ves occur when two parts move in similar motion at an interval
of a 5th or an 8ve. This sounds very 'bare’ and is not an effective way to harmonise.

o— Z y — |
D = = (&) = -
x e 5th F 5th r / e f f-
| i5th ’J E51-h | ‘
'I'. 8ve- - ;:: 8ve = f: ',' Z al
. - o
i |

D

F

Consecutive 5ths and 8ves are a really big deal and you'll need lots of
A practice at spotting them and learning how to fix them. There are many
— 7 free practice pages at www.blitzbooks.com.au

All the ‘rules’ you learned for completing cadences in Grade 3 meant you could achieve
the two aims above: good voice-leading and avoiding consecutive 5ths and 8ves.

It's time to learn some more 'rules’ as there are actually four principle cadences in
music. The new cadences in Grade 4 are ‘imperfect’ and ‘interrupted’.

NAME OF CADENCE CHORDS USED
Perfect V-I
Imperfect (newl) Any chord - V
Plagal IvVv-1I
Interrupted (new!) V-VI

Go to www.blitzbooks.com.au for revision of the 'rules’ for perfect and plagal

LT cadences. Then turn the pagel 23



The Imperfect Cadence

An imperfect cadence consists of any chord leading to chord V. Imperfect cadences
sound very 'unfinished' and they are usually found halfway through a phrase or piece.

An 'lmpergecf cadence aluajs ends on chord V.

Here are some imperfect cadences. Play them or get someone to play them for you:

m I | )4
e = & 2 1 = iy
| FanY — [ f av WL 1L 7
& ' 77 A4 7 Ted
[y | | [ =2
2 J
o) - — % XX ! ] =
aa— 2 JR -
I - - '
& major (I - V) B minor (I - V)

Weriting imperfect cadences with chords I - V is easy: it's just like writing perfect
cadences, but the chords are switched around!

Step 1: Bass sings the root of the chords

Step 2: Tonic to leading note (jeierse og perfect cadences)
Step 3: Note in common

Step 4: Whatever's leftl

Write imperfect cadences in the following keys (hini: raise the leaJ’mg note Tn chord U oE minor Leys!)i

:’Q_# 4 H .

} P A ]

E#4 L8] L*] Z b =4 [#)
| & an [ a1 hrd (o)
AN [+ ¥ 2N <V [8 [#]
¢ i [y,

R Et8 = Y &
” — 1 [#]) V4 -] r=

B flat major (I-V)
pianoforte style

F sharp minor (I-V)
four-part vocal style

Go to www.blitzbooks.com.au and download some FREE ‘pianoforte style’
/ manuscript. Now write imperfect cadences (I-V) in E, B and & major and minor!

More Imperfect Cadences

-

-

An imperfect cadence always ends on chord V. But the first chord does not have to be
chord I; it could be chord II or chord IV! {or really any chord bt ue'll concentrate on [T and TV for pou)

To write an imperfect cadence with chords IV - V (like this one in B flat major);

just remember these two steps: rl |

1. The bass note (the root) steps UP D) l,J l
2. All other voices move DOWN T g:

(extremﬁij 'lr'\POr{ant - this avo'lds consecutive oths aml Bues) e I :

v v

AT 8

To write an imperfect cadence with chords IT - V 5 ——= =
(like this one in G major), just remember that D) [ I

all voices move to their nearest neighour B :I d

7 £

N f i

I A%

Write these imperfect cadences in four-part vocal style, using crotchets.

S —

2

ef

d

)y ——=

Db
s
ol

T A= "Te|N_

A flat major (IT - V) B minor (IV - V)

Write these imperfect cadences in pianoforte style, using minims.

O H

P AL ATRLE T P’ -/ T

F 4l L ¢ 2 (1 Ty F a1 (@]

[ an W (M r (4]

AN <V 104 [

(Y (%4 (Y

e P2y (8] v I
CX 1 SR T | =4 | ] 1

A I 4 I { : T D

1 L L 4 I =

€ sharp minor (IV - V) E flat major (I - V)

Then write perfect (V-I), plagal (IV-I) and three types of imperfect (I-V,
/ II-V and IV-V) cadences in F, D and A major! (That’s 1D cadences in total — hae fvn!)

- 6o to www blitzbooks.com.au and download some FREE 'vocal style’ manuscript.

25



An interrupted cadence consists of chords V - VI. As the name suggests, this cadence

The Interrupted Cadence

sounds like it has been ‘interrupted’ on the way to chord I,

Here are some interrupted cadences. Play them or get someone to play them for you:

T'\ings To Notice

f) o | I
F ol ! =
¥ al o o) e
[ & o W) [}
D |r i
4 XN . |
hall X XY
ARk =
T 77 1=
I I
D major V - VI

) .

y i {

_@_ﬁ -~
v = =
) )

7 — &
1
F major V - VL

Let's Practise Cadences

1. Fill in the missing words for these interrupted cadence rules:

1. Double the thiay  in chord VI (not the root)
2. Leading note Yo _fonic

3. 2 parts move wp , 2 parts move oloiin

=

2. Write interrupted cadences in pianoforte style (don't forget {o raise the leaJ'tng note in miner kegs!):

% The root of the chord is in the bass

# In chord VI, the root is NOT doubled, the third is doubled instead! This is the
simplest way to avoid consecutive 5ths and 8ves

9 124 # ﬁu#’ j T
g ¢ = 1 "# th < k13 LA g
A5 — & ¥ —ag =
[)) [ it - L

PP T N 1
[ { 1 H e &7 ) ? 1 3 ] i
#‘r‘b i I L TV wa e i Rt 1 =
—a o - ] o (22 &
LA /B4 1 ! ’ L
v VI v VI v VI
E flat major B minor F sharp minor

3. Invocal style, write three different types of imperfect cadences in B major.

The leading note goes to the tonic (oE course!)
2 parts move up, 2 parts move down

The bass part always steps up, it NEVER leaps down a 7th

* * % »

Two parts will often share the same note (as in the (maJor Example)

1’»?’("%‘“(’ This 15 the OnIJ uay to avoid consecutive Dths and Bues.

HOT TIP: Tn an interrthel} cadence, Jou must dosble the oot of chord VU, but double the THIRD o)f chord VL.

Write an interrupted cadence in vocal style in the key of E major. Follow these steps:

BT
1. Bass sings the root of the chords » 5,,"1,,1 ) o
oy r
2. Double the third in chord VI (o} the root) D} = ©
3. Leading note to tonic ey O .
4. 2 parts move up, 2 parts move down it et O

26

Dttty —s o
tl — [w) [ @] {J [ ]
'\:)9 "—H—rs o) ra 7 G (0]

I (@] o 0 o
)ity g L B (o) =)
A s W | = @)

L1 H e

1 \4 1 Vv \Y) \V4

HERE'S A
THOUGHT:

Sometimes the exam (LUESJL]OH asks Jou to urite an TmPerEect catknce, but 1 does not

fell Jou uhich tjpe. IE his ‘\aypens, Jou can choose!

y 4 ﬁ b ] I ﬂu#& % t
y © = b o = i - i
4 = L & 1 = —1
SIS 8 ¢ = ¢
Py f'] A iy A
F TN . = 1 Y Forl r -
i ) = Ty 1 124 f 22N 4
7 © B i 1 iy 3 = 7
— e
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Supertonic-Tonic Endings

= ;

Sometimes a given melody ends with scale degrees 2-1, which is 'supertonic-tonic'.
When this happens, the perfect cadence will need some special treatment.
Here is an 'ending’ in € major. Harmonise chord V only, then read the points below:

0
P4 =
F .4 ~F Ty
'{“ =
The soprane notes  |FSF e &
iven are 5cale
J 01 __ o =
b1~ B =
©
Vv I

* The bass part has no choice, it must go to the tonic

* The leading note has no choice, it must go up to the tonic

* The top part already goes to the tonic

* This means you will have 3 fonics - this is also called 'tripling the root'!

* Normally the G would be the ‘note in common’. But then chord I would have 3 C's
and a G - it will sound awful. This brings us fo a very important rule:

NEVER LEAVE OUT THE THIRD OF THE CHORD!
(P.3. The third tells Jou vhether i's major or pinor = very important.‘)

* Therefore, the G will have to fall to the E, Fill in chord T now!

Here is a 'supertonic-tonic' cadence in ZH -
pianoforte style. There are only 2 notes () | <
in the treble of chord I. This is because |
there are two 'parts’ on the C! ) ia 2

HOT TIP: In Pianofwte stjle, Jou uill ALWAYS end p ith a 2—note chord uhen Jou triPle the root. Don't
"’P"i‘,‘flq" worry, everjone l&nous that 2 Parfs are 5Lar'lng the tOP note!

Write perfect cadences for each of these 'supertonic-tonic’ endings. Do not write any
notes above the given notes. Also:

You will need to have 3 parts on the tonic chord I (i.e 'triple the root’)

*
* The remaining part must have the third of the chord
* There will be no 'note in common' in the cadence

*

In pianoforte style, there will only be 2 notes in the treble of chord T

) Hutt |
P’ A LT ]
FL V AWEAE -~ I
[ an N > [ & [ ¥ |
Y4 b 24 [ @ &) AN 74 = I
o < (2 = S
q:' = e 'l. ﬁuﬁ 1
b [&] 7 " £ I

o) ¢ ©
four-part vocal style pianoforte style

) Remermber: you must NEVER write any notes above the given notes, only belou!

Using four-part vocal style, harmonise all of these ‘endings' with perfect cadences.
Some of them are 'supertonic-tonic', some are not! Check the key carefully and do not
write any notes above the given part,

These are all major keys:

A u n | | | l |
oF o I F- XN [o) = . | 1
g 2% 1L A 1 =] P
| fanY Yy % L il [ ] w _1X Al Y
- ~F 5 iy 1 [ 4] [ &) |
) &) - = =&~ ! \ | ] |
o . a —_—
. s (49} [ e} pad o [
il X1 o | = P- I oy [y '
rd b Y ) 1L ) =i Ty | o 1
= L bl [ub) | ¥ | = 1
I A\ 1 I |

And these are all minor keys. Don't forget to raise the leading note in chord V!

f) u It . i ] | )
o 1l -] T I 117 | Il
F 1l = M | I | 24 I 1
| & o Y L o [ 6] 1 - Ll fo” |
o < (3] — Z =
N I P17
i o a —e- I, d d , ! n!
ki — = - ——— B ﬁ;gf
bl bl o [ &) = ! i = =Y
A\ I Vv I {’ 1 A% r
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Timed Test Time: Fix Thesel

e
—

Time yourself doing this quiz. Do it as fast as you can, then record your finishing time wmng W"J s i wOng? ﬁx i UP'

above, But... guess what? Your teacher will ADD ON 10 SECONDS for every mistake

you make! It's fun to go fast, but more important to be accurate. Start the clock! Auwt | Awt ]
it — Perfect cadence: A —
= 7
1. Name these cadences. Each one is in a minor key, :@o) ! :ﬁ Leading note does not %’ ’ =
Q 4 _ Q , | , o ] go Yo tonic. The root of N
T e FL ] I . 1
le—— = LD~ Z ) ﬂzﬁ?ﬂp ] chord 1 is not tripled. ) H—f =
) L) I g_ { = '
, < #oy ﬁA s N
) fin=d ) —— .  {)
74 S 7+ — AL T 1 p I T
I o P lr) = z lg‘ Perfect cadence: oy’ —¢ -
| J The third of chord I is e
Cadence: _[mperfecst Cadence: Tuterrapted _ g o < g
4 ' 0 r mISSIng. (\: 'a':\
L ! e ]

V4
7

2. Name two compound duple fime signatures. 3 and é

A » Perfect cadence: —
o T < Se—— > Sa— o — s ;
3. Write the inversion of this interval and name it.  X&y — ] i The chord in the treble of ) | ,-
¢ ; chord V spans more than
" fh X .4 1] p m
dim 47 ) - (FEE—= =
- —— i one octave. { -
4, Which two keys share ﬁ . - ;
. . R o _and _E mutor
this key signature? A—ﬂﬂLm{?f% H o . A
i — (8] Interrupted cadence: A—= =
' ' o et Consecutive Bths and I ©
5. Complete these perfect cadences in major keys. — | 8ves, bass note leaps down i efc.
9 ﬂu#n [®] 9 I Irl b — (S ] a 7th. ‘I': =
o1~ — & {ey> © e
!) A
') A Qs | | Dy |
 am— - Interrupted cadence: g
i [#] (] o  #an = o
- Y o3 1 1 (o] = A4 77 | .
N ki3 = - 5P = )] | u The root of chord VI is o l" I
& L [ o)
8 . B 2 % | doubled instead of the ] | erc.
e third %
STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP! § i ] ) ~ - ]
After marking this with your teacher, tick one of the following:
ﬁbz‘ Imperfect cadence (II-V): % £
I:I 1‘ J A L [ I I:II J o L & i B Too much leaping in treble ) — =
Made no Mistaxes, mage —_— Mistakes. . efc. parts, consecutive 5ths and , elc.
Fa Yl T = 23 1 1 =
i — 8ves 7 —

Leep My time OE ' MJ new time 1
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Puzzle

i R
. -

Find the answers to each clue on the opposite page. Once you have filled them all in,
you will discover the Golden Rule of all melody and harmony writing...

plolvlelcle|T|ule|TIH|1|RID
‘siTlele|s|oulp
FDOUBLEBA/QI_/NE
‘Lle|als] s N|eINlo] TlE
slulple|e|T|onli|c|T|lo|n|r|c
ol Im| 7Nl s lelelD
alvlsImlien| T|E D
Elnlalrlolela|L
el ilalnlolFlolel 7] els | Ty L]e
m| | ~olrlTl K| oD
blolulelclels|wlalr|pr
ple|le|Flelc|Tc|alole|n|cle
rlwlolnlo]Tlels |clo|o|o|a|N
el lelo |/ |n|elz]u|elelolo]|T
clulelolmlalr|r]|c
“slolmlsn]aln|r
Blrlclalrimli | ~lole
Plele|Flelc|TIEl |FlT|H

The Golden Role is:

Leaoéu::/q Note 7o Tonce

32

10.

11,

12.

13.

14,

15,

16.

17.

18.

Clues

- -

You must do this to chord VI in an interrupted cadence.

When using chords IV - V, the bass note sfeps _up  (fint: check p.20)
Scale questions usually have an instruction fo place one of these at the end.
Technical name for scale degree number 7.

A special type of perfect cadence is required if the last two melody notes are the
Supertonic and the _#an/¢c . (Hink: seale JegreEs -

The quality of an interval that is one semitone smaller than minor or perfect.
The quality of an interval that is one semitone larger than major or perfect.
Leading note of F minor. (fint letter name plis accidental)

You must write cadences in both four-part vocal style and _pranoforse

Name of this interval: )

]

This accidental is used to raise a note one tone without changing its letter name.
Most pieces of music end with this type of chord progression.

Complete this sentence: In an interrupted cadence, two notes go up, Ao no/es
QO Josm
[

Having three tonics in the final chord is also called -fm/'o/z'ny the roo

(Hint: 3 words, see page )

Two notes a semitone apart in which both notes have the same letter name make a

Chromaiéc  semitone.

Melodies often modulate to this key.
Relative of D flat major.

The inversion of a perfect fourth.
33



Fl'r.s-'- Inversion (g) Chords Write root position and first inversion chords in these major keys. Remember:

* Root position means the 7007 of the chord is in the bass
- - - 6 . . .
The three notes of a triad are always referred Yo as follows: * First inversion (e.g. I) means :he Zhird of the chord is in the bass
* Don't double the bass note in 3 chords - double the root or the fifth of the chord

Fifth
%T‘hird R —
— e —8
B

e
-

4

Y
Root = [£a] g
= ry) ' = b <
Up until now, in four-part writing, we have always put the root of the chord in the bass. =
= L
This means that the chord is in root position. £ (B ﬂﬁ%g f ni - ; (j‘ - e
[ ¥
But if we put the third of the chord in the bass, it will be in first inversion! (Hew exciting) I 6 v V6 1I 116 VI V6
o ) 6 . .
Here are some first inversion chords - called 3 chords - in C major: iy H L " ; + | I ]
= Hes2—1 o : o - < c
1. 2 3, 4, 5. 6. I |5 = e F F i f
5 | o , 4 | : I T
y o ¥ 7 2| 77 2, S ’J A _CL _A_ (.l l'! é‘ -é‘
oh— & = = ! R 25 T rm— = © £ =
[ = ' f' -] 7 o = i 5 £ { 1
ey V_1F Fon] 1 1 1 = 1 L
l el [ i { t }
)2 7z 2 |g 2 = I'j I 16 v Ive 11 116 VI VIs
)| 1 1 | | I
I T I ¥ | I
To identify whether a chord is in root position or first inversion, follow these steps:
T‘”ﬂgﬁ to notice 0 Step 1: The four notes used hereare £ A (. F.
F WY
| O an W
* The bass has the third of the chord, not the root. DJ F} Step 2: Cross out the doubled note.
)
* The third of the chord (the bass note) IS NOT THE NOTE THAT IS DOUBLED. q_ﬁgl; Step 3: Arrange the remaining ()"9 2]
Z_b.
= |" three notes in a root position triad: X

* Examples 2 and 4 are in pianoforte style, the others are 4-part vocal style.
(Remember: root position triads ook ke a set of traffic ghts!)

* TInexamples 2 & 3, the fifth of the chord is doubled (i haen't done this before, bt it is quite 2
3°°J option — more about thi leter) Now you know that F is the root of the chord. However, the bass note is A. So that

means that this chord is in root posiﬁon ((ircle correct ansuer) Well donel

First inversion chords are called § chords because of the intervals in the triad: Find the position of these chords by 'transforming’ them into triads first:
9 <) Q ﬁ n l :
/ o, 8 - = %:bbg:
é; § 8 [ _ [ i .
Root position  1st inversion  2nd inversion . . - i h
F“ XX _d 1 _‘a_h—'
P . 6 . 77— 75 .
So chord I in first inversion is actually chord I3, but usually the three is left out and = = i
it's known as I6. Chords II, IV V and VI in first inversion are II%, IV, V6 and VI®. Position: _EjrSt inversion Position: Roct posibon
35
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More about g Chords

Just like we discussed on the previous page, in the exam you have to work out the key
and position of a given chord. Usually you are told the chord number, for instance:

L

9!
e
\.jl
£O
,.ljh E

This chord is the subdominant of its key

AN YL
vy

First, find the root of the chord by fransforming it into a
root position triad: (Remember to ignore the docbled note)

==

Now you know that the root is DY , and we know that this is the subdominant (no. 4 ).
This means the key must be gﬂm%iag.

Now look at the the bass note of the original chord - is it the root or the third? Zhs/rd
So the position of the chord is Flirct /Inversion . Good work!

Identify the key and position of these subdominant chords:

f) o ﬁ | | | o
P AR 12 | TP A Y -+
I AN Y e 12Y [ Py 1 ¥ M
[ & an WL - L V_1F 74
AR [ 3
Y] (34 19
-~ | 1
& 3™ 1l e 1 1 ] o !
il CX D1\ — 1 r ”l 17 = o 1
I A 1 N e 1Y H L7 . 7
+ © 4 v 1
|
Key: £ sharpmingr Key: G minor Key: Aflat major Key: £ _rninor
é

Position: _Koor Position: _ 3 Position: _Rooft  Position: é

One last thing... sometimes you are given accidentals instead of a key signature; this
means you will have to think a bit harder about the key!

0
é'my - This chord cosld be
3 . ﬁ dhrd 1§ cier o
oy———— chord IV OEE minor
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1. Identify the key and position of each of these subdominant chords:

- 4
y 4 74 Iz <] et
[ = 724 73 I
AN3Y4 7 oY ] 7
DA B 2 =
I t 2,
o
) D7z = I e b=
y 4 i I =) T P
| 1 = T i
I ! [

Key: _Gminor C minor

¥ major 0 major
Loot $

6
Position: __ 3 Koot

2. Name the key and position of the following dominant chords.

HOT TIP: IE Jou are given a dominant chord with acciJentals, Jou won £ be able to tell ubhether the

‘A»'*,‘h’ tonic laej Ts major or minor. But the 5004 news Ts, either ansuer s correct!

A ¥ | oo~ 1h =
y iz y= T b P I L=y
8N _[7 = o, o~ bl [HPL® ] =
ANDY4 77 & 77 oLl =

Q) | I <
J ey . b'% by s £

o e ) o P

¥yeo [J - byl oL I

VAT | Sl il 14 1 [ ] =
v _17 i had T o>

_D_"mgéczc
'3
2

Key: £4 m%('gr' C¥ mnor B runor
[ €

Pogition: __ 3 Root 3

C mghor
[

3

3, For each of these tonic chords, name the key, the style (four-part vocal or
pianoforte) and the position:

{) # u .

F il | JIn. ] 1 2 b e

F 4l 1L ] 1k L7 -
[ & oo WAL ] L o) v_1r T=
L4 d r s
(3} -F- P>

o o [ == bl I

il - XN = = 1 (7 Ty I
V. AR | M | h 17 | [ W ]

1 i ! | 2 [l

Key: B minor E# pinor £ mnor C sninor

Style __vocal = _prancforte _praroforke_ —_vocal
Position: § Lot % ROt
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$ Chords in Cadences Take a Break From Harmony ..

.y = -

Any chord leading to chord V forms an imperfect cadence, including first inversion 1. Complete each bar with a rest or rests.

g .6 . .
chords! There are no specific rules when using 3 chords in cadences. just make sure

s T . 5, i - [ ) p— i

Y

there are no big leaps in any of the voices and no consecutive 5ths or 8ves,

_ 11 el T}

Chord II'® is one of the nicest chords to lead to chord V, although for now we can only

use this in major keys. Here are two guidelines for the cadence II%- V: 2. Name these intervals by number and quality.

* You may double the third of chord TL® (ihich means jou may dovkle the bass note) A A 0.4
P 4 T gF 1 A1 1A =N Ilg\: 1 ]|
* The three upper parts should move in contrary motion to the bass part —@y\—bﬂ—ﬂmﬂ@cy\—bn—ﬁ@yv—ﬁ—”—ﬁﬂ—""—*ﬁ"f—Pe—ﬂ
e () o (Y] (8 o
1. Complete the following imperfect cadences in pianoforte style (all major keys): or 3rd ln 5 e T o 2nd! 5o
0 4 !
P A L T -
(7> # = o P-I
S
[Y)
0 I { . @) £ 1
75— z i I 1 5
P & b L )
T ]
m v i v m \4

2. Write these imperfect cadences in A major using four-part vocal style,

O ¥

P L. & r=y

7 —# P2y ) < = L= =

[ & oo W b= b b= =

- [ 4] hd [ &) =Y [ ] h i y i 4t

) ~ T I T |

7 n T [ I |

= =2 s e = 2 ]
- [ o e o 0 #;ggﬁ-a' [ T '

ra L ke 2 © (@] =0 [ =

o o © o © O ¥ o #°
jas v v v Juiy v

6. Add a time signature and bar lines to this 3-bar rhythm.
3. Try all of these in four-part vocal style. Double the third in chord 1I®, but double

38

3
the root in I® and IVé. And remember: avoid consecutive 5ths and 8ves! B e e = Nt :
e M’ j ¢ il

C major E minor A flat major
 — 2 L _
(& ~ © & o o — e 7. Write the inversions of these intervals and name the inversions.
[ © ~

- #0 - 0

G—= o e —— = A — —pe—1 —
il L] W i = 4] 1S 1 T L@ ] T 74 @ T [®] T TS
7 = TR Sy (@ ] 1 %n il t 1 I " 1

o) 6 ) =4 Lam (y) ro o

m v 16 v Ve v paggor 2nd perfect Hh magor 3l
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Cadence Points

y

-

In the exam you will be given a melody to harmonise in four parts, and it's extremely

important to harmonise the cadence points first,

The cadence points in a melody are the last two notes of each phrase. They must
be harmonised using one of the four principal cadences: perfect (V-I), imperfect
(anything-V), plagal (IV-I) or interrupted (V-VI). Your job is fo ‘analyse’ the melody
notes to see which cadence fits best.

HOT TIP: M Per)fect and P‘agal cadences soind best at the flna' cadence point (i.e. the end og the
exarple). Tperfect and interrupted cadences should be used at the other cadence points. The melody notes
are [ike ‘cloes” ubich tell Jou uhich chords to use!

Imperfect cadences can be a little tricky to complete because you must be very careful

when choosing which chord will lead to chord V. The chord you choose may create
consecutive 5ths and/or 8ves. If this happens, you'll need to use a different chord!
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Another type of cadence is a 'variation' of a perfect cadence: Vé - T or V - I¢. These
sound less ‘final' and can be used in the middle of a harmony example. Just be careful
not to double the bass note of chord I® - it doesn't sound good to double a major 3rd.
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These three cadence points (shown with brackets) all contain 'leading note-tonic’ in the
melody. Harmonise them as directed. Notice how each one is different!
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These cadence points each have two possible chord progessions written underneath.
Revise all the tips on the previous page, then choose the cadence that fits the best!
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Now it's time to try one on your own. Harmonise these cadence points (i.e. the last two
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notes of each phrase) in four-part vocal style.
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More Practice

= o

Harmonise these cadence points in four-part vocal style. Here are some important
things to keep in mind:

*

*

The end of a phrase sounds best when it uses one of the four principal cadences.
Do not write any notes above the given melody note.

Don't use V-I in root position except at the end - it sounds too ‘final'. Other options
are V-I6, V6- T or V-VI

Remember that the final cadence may be perfect or plagal - check the melody!
Watch out for 'supertonic-tonic' endings; you'll need to triple the root in chord I.

Take care when using § chords: don't use them if the bass note doubles the melody
note. (The only exception to this is chord II® in major keys.)

If you discover consecutive Bths or 8ves, choose a different chordl!!
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You can download more FREE practice examples from www.blitzbooks.com.aul

Time:

Timed Test II

—

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your
teacher will ADD ON 10 SECONDS for every mistake, Start the clockl

1. Write an interrupted cadence in F minor in pianoforte style. Use the rhythms shown.

. !

P =

[
1 T

o D 174

i#:i 1
|
t

2. Add the correct time signature: ’87- 1

{75t ! V -
<P “@
¢

3. Define 'syncopation’: A r‘\g‘"nMi( device which SL\:"HS the accent fo dhe

weaker beads of the bar; offen used in jazz Mugic.

4. Using four-part vocal style, harmonise this note (in B flat major) in six different
ways using three different chords. (Hfint: youll need to use some f’lrs{ imiersion chords!)

H 1
p’ A i
FL by = = > > ey =
e = = = = = =
A4 J 2y h>d
LY o bt U (o]
o =
- I | O [o] o] 3 [4)]
—ye1 7 ~ O (8]
S a i - )
7
l T v v 9l vib
5. Name three minor scales which require a natural to raise the leading note.
. £ i b .
C_minor Mingr” B~ minor

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP|

[ 1T made no mistakes! [
laeep My time 0)[ |

[T made _ pistakes.

MJ new time i
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Harmonising The Whole Melody

Here are 2 most important things to remember when harmonising a melody:
1. Do the cadences FIRST (u"\llc'\ ue‘ve Leen Pract'lc'lng)
2. Add the BASS LINE ONLY to the rest - leave the alto and tenor parts to the end.

This is because the choice of chords has to be very well planned, Once the chords have
been decided and the bass line is in, it will be much easier to add the inner parts.

REPEAT: Do not try to harmonise each chord in four parts from the beginning!

Right, now that's sorted out, how do we add a bass line?

/|-'|\| l , , I K’I-—I\l
I I I 1 I 1 i 17 1 - I 1
% i 77 T I T t I e 77
y b & = 2 I o -
o ol | > e - =1 - e L
) 1 1 [ | I R LT 1T
Cadendge Cade 1% Cadence
V-VI V-VI V-1
&%t 23 ! 7 7 > I ] 1 \
il A / - / b\
4i/ l ” / - ’ l\ ‘

The &6s come from Same options

¢chords T and V, I® as last time we

and V8, We can't had this note
use chord V though Can't use chord I here

because it is in the because that would

cadence! make consecutive Sths
after chord VI in the
cadence.

These two

notes belong to

chord I, 50 it's  This note belongs to

nice to start chords IT, IV and VI,

of f withT-I® byt since we Just had
chord VI, we won't use
that, It could also be
II6 or IV® - oh dear!

This note comes from
chord II: remember
that II®-V-Tisa
very nice cadence,

AARGHH!

As you can see, it's rather tricky to choose a bass line! There are lots of chord
possibilities for each note. Your job is to compose a bass line with a nice mixfure of
root position and first inversion chords that does not create consecutive 5ths or 8ves
with the melody.

Let's have a look at one possible solution on the next page where the cadences have
been done and the bass line added in...
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Another possibility

Look! A minim works
well instead of a
repeated bass note

F K
1
l

<
5

I 10, v VI v I6
Contrary motion Bass and soprano
works well; it's also are moving in
goad to ‘establish 3rds, this will
the tonic’ gound great

here would be
Ve.VI6.II® buta
string of § chords
sounds weak.

HERE'S A THOUGHT: First inversion chords are great. ﬂ\ey are a variation’ on the roo position chord.

Tr to vse at 'Easf one per 'Jar.'
| P

In the following examples, harmonise the cadence points first, then compose a bass line
by choosing from the chords listed. Remember:

* Confrary motion is very effective; similar motion is nice in 3rds or 6ths

* Aim for a nice mixture of root position and first inversion chords

* Check for consecutive 5ths and 8ves and change the bass line where necessary!
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Now for a challenge... go back to page 41 and 42 and add bass lines to those melodies!




Adding The Inner Parts

Here is the example from p.45, this time with the alto and tenor parts added in:

T
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:

Figure out the chord progressions for these examples and add the alto and tenor parts.
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H\ings to notice

*
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The alto and tenor parts are quite boring - but this is good! The outer parts should

be the more interesting parts. This helps to avoid consecutive 5ths and 8ves.

The inner parts move in contrary motion to other parts where possible,

Bar 3: The alto doubles the soprano on the fifth of the chord - this is much better

than jumping down to the root (C). Doubling the fifth is often a good option.

In general the alto is kept quite low and the tenor is kept quite high. This helps to

avoid spacing problems between the parts.

Other n»'lngs to AVOIJ {uben il it stop?)

UOicE

cross'lng

Uo]ce
0verlaPP'lng

The tenor is not allowed to sing higher than the
alto! Usually it works simply to switch these
around, but always check that this does not
create consecutive 5ths and/or 8ves.

Voices may not ‘overlap’ each other's paths.
Here the bass moves to a note higher than the
tenor sang the note before. This example can be
fixed by putting the bass down an octave. (Watch
ovt gor voice Overlapp?ng in {reble parts {o0.)

===J Go to www.blitzbooks.com.au for the 'Find the Mistakes’ harmony worksheet!

HOT TIP Don't forget, that you can doble the fifth of the chord Tnstead of the root. [t can be a great uay

1"" “ fw O)E gettlng fid fcowecutwe Oths and Bies!
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Now go back to page 45 and add inner parts to those examples!

Find at least 10 mistakes in the following harmony example. (fist: There's voice cross'lng/ Overfapping,

consecvtive Oths and Bves, incorrect Jovuing. incorrect spacing, all serts °E t'\inga!)\/ dou'alﬂ‘ /400 ’wy 0o 3rd
H | L | A | | )
i o I =  — =
5 = = pa e —— o
(3} [ | | | ’ | | %4
, ( r iz ¢ r
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General Harmony Rules

- L.
- v

DOUHiﬂg (You aluags need o dovble one oE the notes, that's hou ve get 4 Parts!)

* For major chords, double the root or the fifth.

* For minor chords, any note may be doubled, but the third is often the nicest.

If you have two 3 chords in a row, double different notes in each - this helps to
avoid consecutive Sths or 8ves.

NEVER double the leading notel

If you are having trouble making chords fit, try doubling a different note - don't
thange the bass note unless you are totally stumped.

You can always triple the root - but don't leave out the 3rd of the chord!

Other LEIPEUI ’LLings

* % % * * »

Try to use contrary motion between the outer parts wherever possible.
Try to use repeated notes for inner parts - this is called 'oblique motion'.
3rds and 6ths always sound good, especially between bass and soprano.

If your alto and tenor parts seem boring, that's good!

If you can't seem to get rid of consecutive Sths or 8ves, try changing the chord.

THE LEADING NOTE MUST ALWAYS RISE TO THE TONIC!

The (’\maz'lng U OE the Chord

*
*
*
*

You SHOULDN"T double it in a major chord.
You MAY double it in a minor chord.
You MUST double it in chord VI of an interrupted cadence.

You may NEVER leave it out of a chord!

Let's Practise Harmony

-

each example, and remember: 1. Cadence points

2. Bass line

Harmonise these examples in four-part vocal style. Think carefully about the key of
3. Inner parts!

o

DID YOU KNOW.... You can Eind more 'lngwmat'wn in The Blitzbook OE Harmonj Roles. Tt's a
Eanfasf!c way to Practlse and Pergecf Jour '\armonj sL “5
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Revision Of Heaps Of Stuff

1. Write the following cadences in pianoforte style with key signatures: /9
{ ] 4 ' L
g o, I i l-”i b\ "-h. A {
o o d — 5 - ol (6]
) g < 218 S o
Fa T, } } T T f yi3 T
oy o — = i £ =
1 & 5 A= 1 l hrd
E major F minor B minor
interrupted imperfect plagal
2. Insert the time signature and missing bar lines into this four-bar melody. A
O | o N
H . | n I I T T N
e) T [ e |
3. Explain in full the following time signatures: A

% 4 dotted crokheds per bar, Compovad a‘mgdru’o/a.

2 2 doHd Minip$ per bar, COM,mund o(upfa..

4. Identify the number and position of each chord in these passages. (Use [, [ etc.) /{1
1

R
R

) u .I J l O | L
A3 — &= A2 ST ]
O i o |’: r__' =3 f
553 - % - g &ﬁ E
———t= —t i L —— o
| [ I | | | r [ — |
I v vi vV | vt b v
5. Name each of the cadences marked with brackets above: A
Cadence 1: | n{'crrupkd Cadence 2: Plajqf

6. Harmonise the following in four-part vocal style. /{2
Use root position and first inversion chords.

|

h ﬁu# [>] !m i l } | 1 I
oty ——= R e
S (F T I |f
I I T R A T ]
gt — & T # -
=
) S TV L I T !
7. Which of the following is a diatonic semitone: A, B, C or D? C A
g A 5 . . b,
@" '! i — s il ] bo — o
~ - T f—* i
o) ] |
8. Complete the following bars using rests /
8
66— K4 < = il Ny v =
o —an— i T — — < a
3 —=—=| S o3 %
= i} L4 = <
9. Study this melody and answer the questions below: /a
: TR e e s !
e e e |

a) Which bar has syncopated rhythm? 2

b) In what key does it begin? _C minor

¢) To which key does it modulate at the end? E flat %'og What is the relationship
of this key to the opening key? Relative mojor

Total: /60
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Composing a Melody

In the exam you will be asked to write a melody to a given rhythm (usually 8 bars long).
It's a good idea to revise all your melody writing skills from Grade 3 before going on -
that will make things much easier. Let's analyse a nice 8-bar melody in B flat major:

[~ . T o
1 v )i \'
p o T~ e~
N34 1 I [ i 1 L_#_'i' _r—_J_H
I I A\ I

T'w'lngs fo Notice

* The melody reaches chord V at the halfway point, which forms an imperfect
cadence, This is very important.

* There is a sequence in bars 5 and 6. You will only be able to use a sequence if the
given rhythm contains two identical bars in row. (For more info on sequences go to
www _blitzbooks.com.au)

* The last 2 bars feature chords V - I, which forms a pcl‘fcd’ cadence. It is
very important to end melodies this way!

* Phrases 2 and 4 end similarly, which makes the melody sound ‘balanced’. (You must
always add phrasing to your melodies).

* The strong beats of the bar contain chord notes, while the weaker beats usually
consist of passing notes (notes that don't belong to the chord).

@ DID YOU KNOW melod'les SLOUM '\ave an ]mpergecf catlence at ﬂ\e Lalguaj PO'lnf anJ a Pergect
cadence at the end.

Guidelines for Great Melodies

Ly
- —

* The first and last bars must be based on chord I. The melody may begin on any note
of chord I, but the last note must be the tonic.

* Make sure you reach chord V at the halfway point.

* If there is an anacrusis, use notes from chord V. For a 2-note anacrusis, use scale
degrees 5-4 (leading to the mediant) or 3-2 (leading to the tonic).

* Never leap to or from the leading note, unless it is from another note of chord V.

* The leading note must go up to the tonic. It's OK if it leaps to another note of
chord V first... but even so, it must eventually go up to the tonic, e.g.

0 ] . s ™ ,
Goaen et Al ererlEmii—t
o) == =S o/ — I
-
nﬂs is ]ncorr&c{ - t'we ]eaJinS note ﬂ\iﬁ is *}1& corcht ton'lc - t'\e
has ot resolved UP to the tonic leaJ'lng note has reaoquJ Lt

* If you are in a minor key, remember to raise the leading note, BUT... (see et point)

* Avoid the augmented 2nd between scale degrees 6 and 7 in minor keys. You can do
this by raising scale degree no. 6. (i.e. vse the melodic minr scale)

] /A ] @\
X 1/%&:@%@
[ N !

* If the given rhythm contains two identical bars in a row, compose a sequence,

* A leap of a 6th or 8ve can sound really good. (But don't use too mang.) The notes
immediately following the leap should move in the opposite direction o the leap.

*  Always use chord notes on the strong and medium beats of the bar.
* Never leap to or from a passing note.
* Your melody should have a nice shape to it, with some sense of a climax either

halfway or at the end. Make sure it covers a range of at least one octave.
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Good Chord Progressions

- S
= =

Composing a melody is easy when each bar is based on a certain chord. Below are some
ideas for 8-bar chord progressions. ([{ jov are giea a U-tar hythe in the exam, just use 2 chords per bar)

Bar 1 | Bar2 | Bar3 | Bar4 | Bar 5 | Bar 6 | Bar 7 | Bar 8
I v IT A% I II \% I
I II v A\ VI v Vv I
I VI I A% VI IT A% I

Do you notice angthing about bars |, Y, Tand & n each chord progression?

If you're feeling adventurous, you could try two chords in some of the bars!

Bar 1 Bar 2 Bar 3 Bar 4 Bar 5 Bar 6 Bar 7 | Bar 8
I IV I VI IV \'% I v 11 Vv 1
I VI v 1I Vv I VI 11 v Vv I

Here are three different rhythms. Compose melodies using the chord progressions
above. That's 5 possible melodies for each rhythm! Write melodies in as many different
major and minor keys as you can.

You can download free manuscript from www.blitzbooks.com.au. Have fun!

0000 1020 1000010773010 D121 03031 |
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Setting Words to Music

T

In Grade 3 we had lots of practice setting verse to a rhythm... now we just need to go a
step further, and set that rhythm to a melody! This means your melody will only be four
bars long. ({iea neus since ve also got pretty good a that n d grac‘ﬁ.)

Here is a simple couplet:

Ring out the bells, start up the fun, .[J':J
Show all the beauty around. Sn

S

(A bit comy, bot this is the kind of stuff you get in the exan) 2

Step 1:  Mark the accents and decide on a time signature.

Step 2: Compose an interesting rhythm and write it here:

—m,

6 'l : 171 L A
Ring out the baE,  start up the fun,  fhow all the baurdly a- round——"

Good! Now you have your rhythm, you can compose a melody, Let's revise a few tips:

Begin and end with chord T
Aim for chord V at the end of the first phrase (i, af the end of the fist line of pocyy).
Be careful with passing notes and the leading note, especially in minor keys.

Try to make the music suit the words

*» % * % »*

Add phrasing

Write your melody here in F major, writing the words clearly underneath the notes:

|- o a ,

v L | } — 13 [ r o - ) A 1

A b L L1 1 | r ] I | 1 | [ ol r a Ml ¥ ] ri

NV L r ) - T ] & 3. 1 1 | [l [} P | [ |

ALY 0 b ] ! e . | ! { i i :‘ )

J R\‘Aﬁ out  fhe  bells, Start wp  the  fun, Show all The Lm-—ﬁ a-
h

A 3 { f M I 1§
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v, [ ] hl r A 11}
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Write a melody in & major to this couplet. (Remermber to compose the rlwg%m flrst on some spare manami‘,{_) Tiny Tes.r

lHappily, fmer'r'ily, [glor'ious(ly,

. . — O ] ! He o
The lchlldr'en were lchum'mg and |smgmg To(me_ L Name this scale. (‘:‘y d} = LV'F z ,F Uin u!r ! , 4
[Y) { ! '
" e T ~
i S S S me——— i —— . —r — ]
L — a1 ] = 1 2. Werite the following cadences with key signatures. Use minims. /8
J Hag-pil - 4y, mer- i ly . glo- - ous - Iy, The
Pt = p e =
4—¢ it r) 4  —— I n £ ’1 :: g {” 7 9
e e ——— z —— s i (2 [ [/ —}9-
— 5
J chil- drea were CW\A 5"‘5 - \‘\,\—5 to Me . u ' .
it 1 o, o -
s L — yan7w)
[ 1 Lol 74 I”‘ ’[7
DID YOU ANOW... Tn the exam, you must choose betueen writing @ melody to a given hyth, or F sharp major ¢ minor
§ g 1o 3 ghven , :
setting words to musie. Nuajs do the activity you )feel more cong'll}ent with! imperfect cadence interrupted cadence
pianoforte style four-part vocal style

EITHER Write a melody in C minor to the following rhythm 3. Harmonise the cadence points marked with brackets in four-part vocal style. Az

0 | | | y
/’_\ /—\ A3 ] } Pt & s
e i —— e —
3 # . H ford
VLML N AL ML T [ T
. lo u .
OR Write a melody in B minor to the following couplet. AV v Vi e v
Mq\ﬁlda ‘Told such \dr'eadful llies
Tt ‘made one ‘gqsp and ‘sfrefch one's \gyes (H Belloc) 4, Write the inversions of these intervals and name the inversions. A
- A o fo
p * f’\o - y | T 6,": E?G e é p= i be - < HrHe =L
ra B 1 —— { i Ly 5 ' s = L
|' ] i L i | J;I 1 N
Ma - kil = da told such dread - 4l lies 4 aug st perfed 47 _mnor 27
e ———r— T .
o S— y E— i ¥ — it 5. Who wrote Tchaikowsky's Nutcracker Suite? (hee hee) Z'Qﬁm,_(cmug%z A
—
e 3 and streich one’s eyes ' 6. How many duplets are there in two dotted minims? __4 A
Go to www.blitzbooks.com.au for more couplets to set to music! To'ral : /30
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Form

= -
- Zal

The great news about this section is that there is nothing new to learn - you did it all in
Grade 3 {400 hoo!). Binary (AB), Ternary (ABA) and Rondo (ABACA) are the three types of
form you are expected to recognise. Name the form of the following melodies and mark
the sections with the letters A, B, C etc.

ﬁno_ T T T~ I I — t

Gh e e fres e T
SRS SSE e = :

® [_TI

n ” ﬁ pre— mp— — 3 F

p” A ?IJ.TI"“ 1 1 } l } } { .l
Mﬁ:ﬁ: o~ L } - — — i
) - —] Fine

1 o

%E%r_—&% i e P

;)v L 1 i — "t f % '!“'i

3 D.C. al fine

Form: Ternw%

Transposition

S
- -

Transposition is easy, because it is no different from Grade 3! (Hoy comenient). Let's quickly
revise a few important points:

*

*

*

* Make sure the transposed melody has the same 'shape’ as the original

* 6o to www.blitzbooks.com.au for more practice on transposition!

Read the question: check whether you must transpose the melody up or down
Write the new key signature and add the time signature

Think hard about the function of the accidentals - they may or may not need to be
changed in your tranposed melody

1, Transpose this melody down into F sharp major

—— =3 e —
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Y] ———




A Bit More Revision

-y =

1. Study this melody and then complete the exercises below.

L1

3 "'—I_l_é T T

a) Add the missing time signature

b) The melody opens in the key of D flat Ma"of and modulates to B flat minor

c) Name the relationship of the new key to the original key. Relative minoc

d) What inferval exists between the two notes in bar 4? Major 3rd

e) Mark any sequences with square brackets like this: | 1 |

f) Transpose the entire melody up to E major.

3 3

I I 1 I q} - A Il
s ;. ﬁ#j 7 3 2 ! .
Q9 12 b
2. Name four compound time sighatures. _$ £ g Y4
3. Complete the following bars as directed.
ral ! 1 A o, 0| (9 | N I 3 I
L0 ] 1 1 o - — | (V.4 13 LW A 1 | )
L T e — —- H " e — — o~ i
3 rests 2 rests and 2 notes
o)
4. Name the key and position of this tonic chord: 2
N
e)

Key: R flat Maj'of

Position: st invergion

N

v
TR P

5. In which year did Sydney host the Olympics? (ok this s not reaHJ rvision) 2000
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Italian Terms

-

>

There are LOTS of terms to learn for Grade 4 (513'1). These are in
addition to the terms for Grades 1, 2 and 3, which you can download from

www blitzbooks.com.au. Also try the BlitzBook of Theory Games!

Tempo commodo
Tempo giusto
L’istesso tempo
Non troppo
Grave

Rubato
Stringendo
Perdendosi
Smorzando
Rinforzando (rfz or rf)
Pesante
Cantando
Tenuto (ten.)
Piacevole

Portamento

Dolente
Doloroso
Sotto voce
Giocoso
Grazioso
Assai

Quasi
Scherzando
Subito (sub.)
Sul ponticello (sul pont,)
Sul tasto

Tremolo

Pizzicato (pizz.)

Arco

at a comfortable speed

at ¢ consistent speed

at the same speed

not too much

slow and solemn

with some freedom in the time
pressing on faster

fading away

dying away

reinforcing the tone

heavily

in a singing style

held

pleasant, agreeable

a smooth gliding from one note to

another (as in singing or string playing)

sadly, plaintively

sadly, plaintively

softly in an undertone

gay, merry

gracefully

very

as if, as it were

playfully

suddenly

bow on or near the bridge

bow on or near the finger board
bowing very rapidly to produce a
shimmering or waveriné effect
pluck the string with the finger
with the bow (used after a pizz. sign)
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Other Terms and Signs

" | These terms and signs are also in addition to the terms and signs for Grades
=1 1 - 3, which you can download from www.blitzbooks.com.au.

\ 'Ign/ Term

Napme/ Degin'lUOn

Upper mordent

T | T

Lower mordent

e

Trill

—

Acciaccatura

M

r Appoggiatura
N

r Turn

L1l

Tenuto: Hold for full value of note

Counterpoint

A compositional technique in which two or more
independent melodies are combined

The adjective used to describe music which combines

Contrapuntal . : .
two or more indepedent melodies (counterpoint)
Chromatic 1. Two notes a semitone apart with the same letter
(semitone or scale) name; 2. A series of 12 notes moving in semitones.
Diatonic An interval or scale in which each note has a different

(sem'lfone or scale)

letter name

Quick Quiz

Explain ‘counterpoint’ _4 J‘f(lj//P of musiC in Whith to or more

.
>

magaendenf melodies are combineld or sounded. simult 0/4@(0\/}

. List two Italian words that mean to play 'sadly’: o/fo/0.nSO and _cleAfen 1€

List two Italian words that mean 'very' _sno(lfo and __asSas
Suddeﬂ/z neavil /
Translate the Italian words in this sentence: Subito the teacher trudged pesanté’into

ot o consisient speedt
the classroom. "You must work tempo giusto if you want to do well. At the moment you

are assai grave. T need you to be stringendo!"
vew slow ' pressing on Juster

Is this semitone diatonic or chromatic? % DictoniC

Explain M.M J= 84 Mael20l's Mehonome set at Y misurm bellfs
< per minute.

Give the Ttalian and English meaning of rfz 1 “Ruin focz o ndlo’: rey “q b CC&KZ‘?

the topyf.

Which Italian term is used to describe playing with freedom in the rhythm (Particularlj
in reference to a\oyin's piano wsie)? _Ruboito

11. True or false: Stringendo refers to string playing. _Folce

12.

13.

14,

-

Write the range of the fenor voice. f)" ~z

~
Add an upper mordent to this note: r

Give the meanings of these terms associated with stringed instruments.

Sul tasto ot On Or nNCar the &h'mgm« botrre!

Tremolo Wﬂ%wmw@
effecs. 7 63



The Baroque Suite

ra
e

In Bach’s time, there was a very fashionable way of writing music: small pieces called
'dances’ were grouped together to form a 'Suite'. Each movement of the suite is in the
same key and the same form.

By researching the keyboard suites of Bach with your teacher, you will be able to fill
in the missing words in the following pages. Occasionally there are ‘multiple choice’
answers to help you. Try to listen to as many recordings of Baroque Suites as you can
- not just for harpsichord, but other instruments as well.

It's important to research this topic and gather knowledge from at least three
different areas. There is no single book which contains all the information you need!

The ALLENANDE

* The Allemande originates from @er\g (Spa'\nlﬁermanj) as its title is the French word

for _ German (German/ Spanish).

* Ttis often the _first (Ei,siflast) dance of the Baroque Suite; the only movement
which would go before it is the __Prelude (Douree/Drelude).

* The time signature is usually _4_or C

*  The main rhythm value used is the Semft‘wae/ (v seriquaver)

(QuavEr/ sem'lquaver/ minir).

* Ttisin_blnary  form S
(EGS{/SIOH/NOJ&@{.E) 4

* It begins with an anacrusis, which is usually a _sem (a\uc\ve/

* The tempo is _moderate

* The STy|e is Seriou S (Eunnj/seriovs/gracegvl) .

Write a short paragraph here about the Allemande:

The. Allemande is o serious donce in o dime .

{is of German origin_
- J

ond USuan Comes {irer in the Baroq‘ug. Swite  unless there TN

Prelude . 1 consists mainly of semiquavers f/\c(udea its_anacusis.

64

The AUeMoAJe is a Modo'ddj -‘FC\S{' o{aI\CL in bu'Mr}/L&FM.

The COURANTE (2 types: french and Ltalian)

* The French verb 'courir’ or Italian ‘correre’ means: ‘fo run

* The Courante is the _Second (second/third) dance of the suite, unless there is a
Prelude, in which case it would be _third  (second/third).

* It begins with an _0anacrusis (anauusis/l\a]g—bar uPLeat) i

* Tt is always in simple triple time: ;_ '-3r or g , .

* Itisin_Qinar form : e )

* The speed is usually __&L (gast/s]w/moderatd. ‘ .

french Covrante [talian Covrante

* Dotted notes * Running passages

* Cross accents * Free flowing

* Great variety of rhythm * Faster than French Courante

Now write a paragraph about...

The French Courante

Fronce. and the word  ‘Cougante' means

This_dance 0(‘1;(':1'/\0\"'(§ from

ru/\mM I has an gaacrusis and s in fmplm time_. [t is a fast dance

often ‘Ftocfuu'mq a jrmf \/ana«‘u of rl\u#m mc(uc(mq dotkd note¢ and

Cross QCCU\‘(S. lhe Fl‘end\ Courm‘f& IS in bmam/ '(f)/‘/vn.

The Italian Courante

This dance off:}i/\ka {rom MHaly- As the word ‘Courante’ ( (meaning /rum\ir\q’)

8&33(545 it features {r‘u Flowm} pa&f«ﬂf and is us\m((w -Faskr 'H\M

the freach Courante - [ hag an

The tme :.waure is UlSWk“u i oo 3.

anacrusis and 1S ia bmmj fornm .
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The SARABANDE

*  This is the only Slow (fast/sIOu/mOJEraLe) movement of the Suite

* Ttisof _Spanish  ([nglib/Spanisffrench) origin

* It always comes after the Courante ,
the _third  dance of the suite.

It igin bl’f\ary form and the character is very dl‘ﬁm'fa'ed (JisnifieJ/P]ajqu

Tt does not (Joes/does nol) begin with an anacrusis.

which means it is usually

*» *» »

The time signature is simple "rl'g’fb (Jque/triPIE/qyaJruPle)

»

The main feature is the emphasis on the _S¢cond (girsi/seConJ”Esi) beat of each bar.

* It hasa {nomof) honic (POIJPFOn"c/LOmoPLonic) texture (i.e. based on chords) and often

features QFI\AMLN"S (ornamenlslghssanébs)

Now write a paragraph here about the 'Sarabande’:

The Sarabande contragts with its Surrow\dmj movemends due fo its slow

tempo, An eiegm-f and d.’sm'l{;e_d dance, it offen features o chordaf
texture and an Uvmhas;s onthe 2nd beaf of the bar [t also Containg

offaments. It o mu\a’ms ﬂhm SQM\ ond IS ia bmaru -(orM

J
The MINUET
* This dance comes after the Sarabaade and before the Gufg; It does
not have an _anacrusig (JanJvclmn/anauusls/EnJlng)
* Itisavery _Simple  (imple/complicated) and __giatel (soleen /stalely) dance. It is

always in 5;‘M‘gl (3 -\rfglt (aimpie JuF]e/simP[e Lrine] time and is played at a _moderate.
(Easl/altiu/NOJeraf.e) speed.

* The Minuet originates from _France (Spain/ﬂance] and is in b[nagj form.

Now - as usual - write a paragraph here about the Minuet:

The Miguet g parf' of the ‘Galanderign’ f.e. tx-fr‘a movements befueen Sarabande

and Cvu( His a S‘(’a,hlvt French dance in ‘f 4ime. [t has no anacrusis,

s {afabgw( at o Madcﬂin_. SIDI.EJ and S i 6"‘4th4 form.

The GAUOTTE

The Gavotte also comes between the _| aralow\dt?. and the Gu'?uz, .
({ngranJ/france/SPa'ln).

. . . 4 2
The time signature is usually _4% or _2

It often features a (ﬂaff- bar (half~bar/1 leat] anacrusis.
It has a _moderate  (fagt/slow/moderale) tempo and a steady sense of rA&&M {key/rhythe).

Itisin bl'f\ar%’ form.

Now write a paragraph here about the Gavotte:

It originates from __ France

» * % * * »

R 4 2
The G’MGH(. 5 Q S'f'eadj Freach dancsa uSua{[b, in 4 ¢ 2 +|'ML.

i hag
o ka({-bar anacrus's and 1S ,qub«ul of a moderate "'QM'pO- it is also lom*

o{ the ‘Galankcian’ The Gavolfe is in bfnanj {orm .

nd finally — The GIGUE

* Pronounced 'jig’, this dance originates from England, Ireland or ,chl‘/and .
* It isalightand _r ﬂg!'d (si”g/raPiJ) dance, and usually has 'Fugaf (sens'IUvE/EUSEU

chordal] treatment of the main theme.

* It is usuallyin COMgouftd (simple/comPounJ) time, and therefore has continuous
division of its beats into _threes

* TItis the fl't\gl (sixlln/final) dance of the suite.

* Tt usually begins with an _gnacrusis

* Itisin bir\ar?,’( form.

And now, of course - write a paragraph about the 'Gigue':

The C\ﬂm‘b IS o ||ak+ and ﬂmd dance uSULa.“w in ’%’ or _othes wmnowwl

bime .SIjAQ+UI‘¢-— (OC(,GSla/\m”\«l ?) [t is {ugal in SML and uSw»l[j MY

0n anacrugis. [+ Drljll\ﬂ'{'ts ‘ﬁWM Ef\jfomd’ lf‘efw\d or Scotand ond |

In bm QFIjl form.
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The String Family s 2 v | See |xBBS
< w 9 W % < = £ 2§
< > + = 3 3 £ g 25 § £EEZ
— < Y+~ = = T v oW
[ O H 9 o + o i ] & )
Now it's time to do some research about the string family. Remember, there is no T © = = o c 2 2’-,1 > IR kY 'f-, 2 F J 8
| = = _, = [%} w .
single book that has all the information you need! Gather your facts from at least three =2 § e E’ 2 5 . § 3 _.fl 0 E E §
' e Q © + w
different sources, and make sure you ask your teacher for help. =4 S 4 = FoQ o -g 2 - 3 _§ p= 4‘;
Y] = o o+ 3 + W <
. . . . . Ery g E o 5 19 ) 2 e f"; 2 S s 3 S _§
Name the four instruments in the string family, from smallest to largest: —= = = s £ © =2 2 9 2 3 5 c =
-5 S = ElEa a ® E F B g £ &
v ' 528 o £ O @ 3o %
% = F 3+ % =B Fp e 3
1, Violin \\ N
v \ N CJ \
2. Viola ‘ =, 1 4 ||
: = q
3. Violonce llg (C&”o) & o H o .
a- l
4 Double Bass 5 .
= G §
Try to listen to some recordings of string music: if you have access to stringed = l b i K 2
: .y . . . — & il g BN o=
instruments this will really help in your strings ‘research'’.
Write a brief description of stringed instruments here (you may even like to include a .
diagram): S&M{/ / \?{r = ;‘“l ¢|] ¢ CHI
ings T K4 o N
'7T4ni1\5 £e9 J I/ r 5 i N
& \ SR \
3 N
Sound boacd b =
oW e o
600( e = lb 4; b .
() o
£ holeg J o ] i Io | | | 2
SRED T B 0[P
chin cest y S |
(vto\inl\/fo\q m\j) ) ne HC { —
whind Pen s ™ Hee
3099 <
,,,___,spikt (Lello and double bass or\\j) €
=
) >
Now complete the table on the following page. Also, 2
take special note of the last five Italian terms on
page 61, as these relate to string playing!




Absolute Final Revision Test

- >

1. EITHER Write a melody in B flat major to this rhythm. Add phrasing. /o

§Jo1 D01 I T01) 3701 JT
T 1 s I et X B Y

OR Write a melody in B minor to this couplet. Mark the phrasing.

Over the crash of the waves

Came a tiny but sturdy boat.

4. Transpose this melody up into E flat major using the treble clef.

o\

T e N

e = =
O - |
e i e e a E—! o |
\ ] |
bl 1 17 )| D] ] ] ] | 4} I L 'V —I
A e e e
9‘" | o] el e — 5 |
AL T —E I i N
Y vy o | A I ~ 1| o § B |
A 74 0O ': I I 17 1 | = I ] be—‘
e - - =L t—i—-«»—+

9 "I 1 T —] I
£ h [ = e I T 1 1 I
Y P | I 1 1 | I ] 1 11 g 1 ]
\vy .\ 1 “ | I d A 1 1} :l\_!‘l-/. I
P~ ' Pl o= [
~— v
q ~ La —';

5. Briefly describe the form, time and character of the Sarabande.

The Soacabande is in lol'l\ar\j -fbrM. [+ is the oz\lj slow movement of Hhe

Swie. b is ga e[ejw\’( and diar\if}cd donce which offen features

ofpaments ond an mlnkogis on the  Ind beod of the bar.

6. Complete each of these bars with rests before the given note or notes.

7. Write the open string tunings of the e
Vi

®

Ve
| 1 o Py P e |
/W4 Py I | N & | A & o | s & - P ~F 1T 71T
| "Nl 7] r ] 1 a | I I I y ] 1 [ & 1 1 [l | | I 2 | [ | |

o1 S A — e f s
g = = e el
[ 1 o Py o N —l| \
AL R 2 t 4 i — -
1d fd | T ! | { | | [ I | 1 1 [ T é 2 hed I\‘
T | )Ql L;i__l Ly | \QN’ [ ) —JT—
2. Name these intervals by number and quality. /3
) 0 ho
. p 4 |
#ﬁ:}:ﬁ *)y——o — 2 S i
ANE"4 < — 1 ~7 1 VvV i
o) = )
maJiof bth diminished sty diminished T4
3. Harmonise this melody in four-part vocal style. A
Hu |ﬁ\ ,]/h| |m|
o LT | [) - | I A p=| [#X) \ || 1 1
Ml Y 3 1 v - | ~ ? ] v = 1 Y 2
4= = y B — 7 o) p—=e ————— €
AR A A R T
e d 4L I J 4 payly
% r7) P - P Y 5 ? <
D 1 1 | | =4 1 hnd | I} 1 o1 ~
[ T L I I T I \

70

*» * * »

double bass, using an appropriate clef. =2

T8

SHER
[-REE

-0

Write the scale of B flat minor

use a key signature and minims _ .”/?G
. . bl K3P /Y { LT

write one octave going down b ',,"b 1 !

mark the semitones

complete the scale with a double bar line

A1

Total:

oo,
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AC( 055 dat Doun

1. 'Sul ponticello’ means to play on or Mtaf r the W (3 ard) 1. English meaning of 'non troppo’

5. All strings except the double bass are tuned to 2. Abbreviated Italian term for ‘gradually slower’
these intervals 3. Name this ornament: F

9. The only dance apart from the Gavotte in 4 time 4. A dance that sometimes precedes an

10. All dances of the suite are in this form Allemande

13. French abbreviation for 'right hand' 6. The only slow dance in a suite

14. Treatment of a Gigue (fint: tke a figee) 7. The 'tenor' of the string family

15. The suite comes from this period of music 8. Stately French dance

17. The art of combining independent melodies 11. Sarabande and Minuet do not begin with this

19. Final dance of the suite 12. Person with no magical powers (a la flany Potiec!)

20. Italian for heavy or heavily 16. English meaning of 'subito’

24, Type of note values used in the Allemande 18. A Sarabande features these

26. Viola uses this clef 21. Phrase in which each note has a different

27. Rugby players want to score this letter name

28. Ttalian for 'with a strong accent’ 22. Female vampire slayer

29. Dance beginning on the half bar 23. Ttalian for 'medium’

30. A type of courante with dotted notes and ¢ross 25. Italian for 'without'
accents 26. Ttalian for 'with the bow’

31. Inventor of the metronome (el

Crossword

Y

M|
(5] N ARV |
v N A l M|
iillll Bllﬂﬂll
E | G|
GG UE]
L |
M

T TEST PAPER

FOURTH GRADE THEORY
'lb()l.ll Marks 10

CREATIVE

Question |

Answer only ONE part of this question.

EITHER: Write a melody in F major to this rhythm. Mark the phrasing

1 DT N R 0T A

ST I Pl e

¢ Bl question cfully. You hawe s€f the wards 4o Hhe
riteamelody in B minor to the following couplet: thove fﬂ—(y#w\, ; Hese are
2 SL’am}Q ZNM'"\" /

¢ Write the words clearly under the notes
* Use hyphens for words with more than one syllable

* Mark the phrasing

For the most part we wept, so sad were we,
We thought we would never again have glee.

] -acnked /

L J ;ﬂz&»( L;Q/.
oo = e e e T e e e L
g 1 ! H = { : i

For  thtmosh gact \,L\'/m{},so scd wece, ul.\.L:-/ We
e e
x> ‘.' { 1 I 5_‘}_.{ 4 'I 7P H
J 1\\0\43\{’ We o -vtr/ - ver '.-3;-:« k.dg_-‘- ﬁo_

/a(J’.{ S’WN— il T 24
t N ——rradted i ’ml
Mt not |
iasut et words

'fL«s & on its own (withont fae ords )
(o4
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[ Queiion 2 | KEYS and SCALES Fotal Marks 14 INTERVALS ol ST 13

A. Write the minor scale with the key signature of four sharps 2 A. Name these intervals by number and quality 4
6
/» Use a key signature + /
wTvon
v/'¢ Use minims N‘A i\ ho
« Mark any intervals larger thap a tone o&{"’”kj ] i % =) — A
* Wirite one octave going and the again i 1l A
v+ Complete the scale with @ double bar line ) .
also . “Minac. bt Peofect 4t Mgfg.l..:l.ﬂm"/
. i WAl \ \
i — A wer e —t——
Y ——2—= e\ a ~—59/—o——w_—1—Hi
_d'_ g—© — (L ~— © O 7_
X notes c cl.,{ / Z
’r/d“' e ﬁ ek ’ B. Write these intervals above the given notes ’
B. Write the following notes with key signatures |
m&t ' 4
) 18NS 3" o———-4 -+ i A .
D)} D) / N minor 7th perfect 5th diminished 4th minor 3rd major 6th
F minor ajor F sharp minor B major
leading note dotminant supertonic submediant
l
. . . 4
C. For each of these modulating melodies, name: 2 C. Wirite the inversions of these intervals and name the inversions
4
* The key in which it ends n \ = [
 The relationship of that key to the opening key ﬁeﬁ—‘ﬂ = —— —7 B
<y - = i Y :H £ i ] v )
>, —=
— Miner. M U< B
Py )| : 7
r— = [ g I e I s e A idervad + is invesion 1‘”LJ’J

$ o
New key:i%p{_ - Ci
Relationship to the original key: 5 th Noae 7

(Tt ont mate ont vkt

owlv)

N - | m—
) 7 At ) } 1 I I I I ] | .| - | I
1 T T T 1 | Y TRl | Y 77~ 1
14 T ™ | L e 1 e | 1
1 1 i 1 : 1

New key: C mingr
Relationship to the original key: Su@-qq\a nt
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BN oveadrenrev N IR CiiORDS wnd HARMONY

A. Name the key of these subdominant chords and state the position 2
A. Complete the following bars with a rest or rests: @) as either root position or first inversion: 4
shawldk 2
(m&vuk f‘"
) st oO— >(
[ © NN
\
[ M v '\j Key: _A Ma.'l or
{ o )-& ‘urgv = Position: _ Ro o;‘-,_ Vi
B. Insert the correct time signature to these bars 2 b

o G
===

— y

C. Add a time signature and the missing bar lines to this four bar melody Z v Key: %
5 ] .' : Position: _ Roo+
S
s
Wold aot ke such a ,ﬁ?{, enatusis ! B. Write these cadences with key signatures
o LN N&Lv\"‘M""‘
D. Name this rhythmic device ' 0 . e ! P —
1 £ =—* | Y
T [3) | |
: L=
A tie. | o = = %3z
............................................ | '] 0
3 /] i = : Choaryf
. 11
Ao |‘ C sharp minor B flat major M.';g ,
‘Sj “"o“’ imperfect cadence plagal cadence Y
four-part vocal style pianoforte style

Dowbed Sth
um\zussmj

Page 4 / Theory Grade 4 Page 5 / Theory Grade 4



C. Harmonise the following melody in four-part vocal style. Q

Use root position and first inversion chords. ‘4 f %
LA = B. Transpose this melody down into B flat minor (4 ol 4 8
2 4 4
0Ot ;m| 1) |
T3 I i = o—® (7X) r I ; [\ e |
B S S ==S======c0= '
> 1 +l -
. Lo bl ) ENRE
ERINERE S FRVIN AL i
Lo — T —p—1 o o — y I y N w—
—- — : - } — ll' } I — : i % 1:' 1 4 Y 1 | ) - > ¥ {
\ TR L \ Y 2N LR AR Y \ J -o‘-@ Lk A R € | ~
3\3\ \j:;:r\b X PMWU 5 incorre F
3ot X
IEEI  S—— fr————} [ p— Y ||
— 1 1 | I ) 1 1 )| } ‘l 4 H
IIIT ﬁ_ﬂ//‘[:\ T T 1 p— 104
A. Write the folk song ‘Polly Oliver’. Do not write the words. Mark the phrasing. 7 J — N Y ——1——— 4‘,.@_’{_ ¥ .0;% -

Nof
+runs osu(
s S i f
SR N IS s v cvowzoc: RN 5 |

A. Give the English meaning of the following terms

i)
ii)
o bridas Y
R S ———" 4 — ¢ iii) sul ponticello °"°“’“‘\39. ...... Zo e e et s
/7( \ V) Largamente .. DEOMANM..
py f /
. | T ———  — — N v) dolente ........ 5\'4""‘1 e e R bbb SRS b bR e Rt E st R s
| 7. "LANNT] [ |V 40 [ ! C I . N

T I
B B = S e ~ vi) [listesso tempo ... kms\m\afhmfo ..... e

FOLK SONGS NOT REQUIRED

Page 6 / Theory Grade 4 Page 7 / Theory Grade 4



B. Briefly describe the Gavotte 400 l

subedive 3

9 ©o— ;7 19}
i) celio | o ii) viola - ———e—
> o
4
D. ) Is this semitone diatonic or chromatic? )
—i 1]
............... Coromakic. X, S ——J—fo——
ii) Is this phrase diatonic or chromatic? J
L 1 |
1’1 ® ] By I}
................ Diakonis... o ——Ho—f—1
iii) Name these ornaments E E
T T TNy Soct o thing o
(tom cormect
0((6"4'{1'0/\—_(
E. i) Explain the meaning of ‘counterpoint’ {
\ - 2
s .‘.'.‘.\.'.\S-;!.‘...ih!.—.‘:&...‘.\..'.‘.h...'k‘!:!.‘?....B.‘r.‘?.e.kr...QE...&q%m\....\m.fm[.h.os& .......................

r‘t\d'\'\o a¥ the same Heas, - dd gg PR r+w\*
ii) Defineg 1 quavtrs in & bar ... what else 72

.....................................................................................................................

(Compond riple)
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